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| Semester B.Com. Examination, January 2025
(SEP 2024-25) T

COMMERCE PADZ %,

COM1.4 : Business Quantitativé;#

Time : 3 Hours

Instructions : Answer should be written completely l_;gji}hor
Kannada.

SECTION - A

Answer any seven out of 10 questions. Each question carries 2 marks.

(7x2=14)

1. a) What is 200% of 30 ?
30 T 200% D, ?

b) Find the third proportional to 6 and 24.
6 Ry 24 § RoedSe @&médﬁg{ TORS.

c) Solveforx;2x—4 =0
xwﬁg{wﬁa’@ﬁo;Zx—4 =0

d) Solve, x2 —-25 =0
wRT0R, X2 — 25 =0

e) What is finite set ? Give example.
RO AL QOTITERO ? LVTVTOH JCER.

f) What is equal set ? Give example.
RARNT R DOTTERD ? LNTTHBTH JeB.

g) Compute compound interest on T 5,000 at 5% rate of interest p.a. for
3 years.
3 BRNS B0, BdxAr 5% u@dddg 3r. 5,000 3093 Zoad3nezss w@oﬁaﬁg{
3 =0.
3

h) Find simple interest on T 3,000 for 4 months at 3% p.a.

T&RRE 3% &)@ddd@j Sonsony @@% 3n. 3,000 3oeed B0 w@éojasg% OB,
P.T.O.
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i) Find the value of ** P,

4

RPYTI) FowBBOWO : 1 P,

j) Find the value of "'C,.
RIOYTI), BoTROW0 1'C.,.

SECTION - B

Answer any three out of five questions. Each question carries 8 marks.  (3x8=24)

2.

In a college 30% of the students are Hindus, 20% are Muslims, 25% are Jains
and rest are Christians. If there are 10 Jain students in the class, find the number
of other students. ,

2,003 TSN DTRHF Y, 30% 20BRMED, 20% 0RO, 25% TP, LTS
_@éwojaétda. édﬁéojaq 10 zgjﬁ @@St;bfr{@cgﬁ, 933 ébw%t;mef #oas;’sojasgt BOTBIEEIOD.

Solve, x2— 5x + 6 = 0 applying Formula method.
RRE DO, WHRER0TE WIBOR, X2~ 5X + 6 = 0.

In a class of 120 students, each student has to take accountancy or commerce. If
60 students take commerce and 40 take both commerce and accountancy. How
many take accountancy ? Verify your answer by Venn diagram.

120 ebmzschﬁ@?daw 3on&oHnY, B DTRHF O30 eﬁﬁfmﬂd 9T meézg@#dwa’% e;soi%
BRELEB. 60 DTRRFND TERYTORFI), 508, BRETYT 0B 40 DTRFNED
ERIIR, BB SFIOR, VBB, B3 BRETT. STIRFIY, 03, BRBETH0
R083,03, BOTOZEOND. e YVBTBR), F° BCITD,0 WP TodeR.

Mr. Ram deposits X 5,000 at the end of every year for 6 years at 6% interest.
Determine Ram’s money value at the end of 6 years.

T IRET FRBODY, 6% WATIRE 6 IR oo S Tow* I, 5,000 Bees
VRRIZYT. 6 DRFT BRFODE Toes® T BT dﬁc&d@@wm&)%.

Find the number of words with or without meaning that can be formed with the
letters of the word ‘SWIMMING’ ?

‘SWIMMING’ I3 £33nees ¢rr 008 wgm A BEnS Roa,ohol),
FoBO&HBOD.
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SECTION-C
Answer any three out of five questions. Each question carries 14 marks. (3x14=42)

7. a) Divide X 3,900 into three parts in the ratio of % : 1 : %

4. 3,900 e, ;1 . IR0t GReN Soria

b) 5 Carpenters can earn X 3,600 in 6 days working at 9 hours a day. How
much will 8 carpenters can earn in 12 days working 6 hours a day.

5 ST 0L3T TR0 9 Notdns QRRE 8Ok SRR 6 HRnYd) Sr. 3,600 RohRizys.
8 BT 030" LD 6 RoEINT DTNRE FOR BRI 12 @57195@”@?@“ #om@ﬁa@_od DOTD
FOTRIEBEO0.

8. Solve by the method of a) Elimination b) Substitution

X +4y=4
5 + 7y = 4

a) Q03T WS &Y b) F—\J%o—)c)ﬁQ@MQQDSd@L WPRBROR WRDO :

3x+4y=4
5+ 7y =4

9. a) If U={1,2,3,4,5,6,7,8,9,10}
A={34,56},B={1234)
Find (i) A’ (i) A-B
(iii) B — A (iv) B’
U={1,2,3,4,5,6,7,8,9,10}

A= {3,4,5,6}, B={1,2,3,4}
B0R%ER00 (i) A’ (i) A-B
(iii) B — A (iv) B’

b) A ={ab,c,e}, B={ab,xyy}, C={acxp,r}
Find :))AuB ii)AnB i) Au (BN C)

A ={a,b,c,e}, B={a,b,xy}, C ={a,c,x,p,r}
FOTGROWD ) AUB i)AnB i) Au(Bn C)
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10. a) Find out the present value of ¥3,000 received at the end of the year, if the
discount rate is 9% p.a.

zof%cﬁd@ TEBRRT 9% tacgbo", BRET BRFODA, %eﬁ@ﬁ@acﬁ Sr. 3,000 8BRS
ds’ae%da’% 30030000,

b) Compound Interest on ¥4,000 at 10% p.a. is ¥1,856.40. Find the time.
3R. 4,000 3003 10% OXET u%&ﬁdcﬁ@ﬁ R003Re33 W& 0n.1,856.40 eiﬁcgoo",
@daodoso B0 BOWD.

11. a) If"C,="C,, find"C_,
"C,="C nC18 @d} éodaéo@oaa&

127

b) Find the number of permutations of the letters of the word INSTITUTION'.
How many of these begin with | ?
INSTITUTION’ wddeﬁﬁpr{@?ocﬁ @m% e;g’é;eé ﬁmed%mfd}* DIRTBUTBITI) OTV
FOROLBOWD. LINGO, @a’% r eﬁﬁpaocﬁ T9,00%3e5on8es 2




